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1.

Match List-I with List-II and select the correct answer from the codes given below:

()
(b)
(©)
(d)
(e)
®

List I

The spirit of the laws
Candide

Encyclopaedia

The social contract

Meditations on first philosophy

List IT
(1) Voltaire
(1) Jean Jacques Rousseau
(i11) Rene Descartes
(iv) Denis Diderot
(v) Malthus

An essay on the principles of population (vi) Montesquieu

(A)
(B)
(©)
D)

@ () @ (@
(v Gv) (v) @)
(vi) 1) @) (@1
(i) @) @v) (@)
@ @ @) (v

e ®
@) (@)
@) (v)
@) ()
@) (v)

Arrange the following events in chronological order and select the correct answer from

the codes given below:

(a)

(b)

(©

(d)

Native Americans protested against the British Parliament’s tax on tea at Boston

Harbour by throwing 342 chests of tea into the sea

The Toleration Act granted religious freedom to all religious groups, including

Protestants in England

The Declaration of the Rights of Man and the Citizen was prepared based on a

variety of Enlightenment ideas and the political philosophy of John Locke and

Montesquieu

The National Assembly formed by the third estate and some sympathetic clergy

held their meeting in an indoor tennis court and vowed to stay together to write a

constitution

A) (), (a), (d), ()
B) (), (a), (), (d)
© (a), (), (d), ()
D) (d), (b), (0), ()
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1.  ulgwev-l g ulywev-IT o Ler QuTmsS), £CW CQarhHissLiul(HsTem GMIUILiged (hHHg Fflwimer

LSlenevsd CoHImHoIS[H &L :

uliguwsv I ulguwiey I1
(a) &FLLrsefleT 2 ewriey 1)  eumeuGLy
(b) Gaevorigl (1)  gBetr WmEEV eHGFT
(c) semevEH6T(EHFIWID (i11) QyGesr GLeVGTTL6N
(d) &Feps uubSD iv) Qesflen WAL Gyl
(&)  W36L BSHZIEUD UHMIW HWTETMHIS6T (V)  meugen
) wEHETOFHTENG QS TETENSHS6T LIHMIWL (vi) omeTelLsvlw,

R sLHenT

@ b @ @ @ ®
A ) @) (v @ 3@ @
B ) @O @ @ @)
© @O @) @ @
@ @ @O G ) (@) @)

2.  Mewreumd  Hspeysenst  smeveuflenglilly  RUWERIEGUHSSH, SCp  QamhssiuLl(heTsT

GOUbHssleS) (mba sflwmer LSHemsvs CaFHoSH &6 LD:

(@) uwreis S6wEsFeEsT LTevLeT SHlenmWasHSlen LNl iges LTTTEHLTDD CHUNenens &,
aNfss euflemw eHisgs 342 Qulysefley CsBr CaTiLeamssemer &LeSlev ermibs
GuTyTLLLD BLES 6T

(b) FHULSHeTEOWL FLLD @riflevmbHled 2 6Tem LFmliLevLeTl(HiaeT 2 LLUL HemeTSHS | LSS
BUSHEHEBL 105 HFEHEHTSMS QPHISILS)

(c) weslgsr LOHMID Gyoasfler 2 flenwasT LNTELETD LGN HMCeuTe & (HSHE 56T
LOMID ST 6VME MMID LTeTEILeVE LLaN6T HTFWeL HEHHlUSH 6T igliLienLuley
swmflésliulLg)

(d) ewpesrOMD eTeVGLL MMID Hlov ST LS (HOMTTSHEMTED 2 (HeuTSHSLILLL CHFw
FLLDETMD @M 2LLm GlLemesfloy ensTeaTSHSHled SmIGET ol lHmse BLSS), (H
SITHWVEMIDLIEHL 6T(0S RETMITE @ (HLILSTS 2 MISHwerfl&H 55|
A)  (b), (@), (d), (c)

B) (), (@), (¢), (d)
©) (@), (b), (d), (©)

D) (d), (), (c), (a)
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3.  Consider the following statements about the revolt of 1857. Which of them 1is correct?

(1) The young sepoy Mangal Pande of the 34t Bengal Native Infantry has fired at his
superior officer and was executed

(i1) Bahadur Shah fought against the British till his death to defend Delhi

(111) General Hugh Rose defeated Rani Lakshmibhai of Jhansi and paid high tribute to
her by saying that ‘here lay the woman who was the only man among the rebels’

(iv) The revolt of 1857 affected the entire British India, including South India
(A) Only (1) and (i)
(B) Only (i) and (iii)
(C) Only (i1) and (iii)
(D) Only (i) and (iv)

4.  Given below are two statements, one is labelled as Assertion [A] and the other is labelled
as Reason [R].

Assertion [A] :  On 6 April 1930, Gandhiji defined the salt laws at Dandi.
Reason [R] . The Dandi march of Gandhiji was a result of the Gandhi-Irwin Pact.
In the context of the above two statements, which one of the following is correct?

(A) Both [A] and [R] are true, and [R] is the correct explanation of [A]

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A]

(C) [A] 1s true, but [R] is false

(D) [A] is false, but [R] is true

5.  Match List-I with List-II and select the correct answer from the codes given below.

List I List 1T
(a)  Criticised Congress Party with the (1) Premchand
Safety Valve theory in 1916
(b) Swadesh Bandhab Samithi (11) Lala Lajpat Rai
(¢ Karmabhoomi (111) Bankim Chandra Chatterjee
(d)  Devi Chaudhurani (iv) Dadabhai Naoroji
(e)  Poverty and Un-British Rule in India (v)  Ashwini Kumar Dutt

@@ (k) © (@ (
@ O @) @ @
B Gv) @O @) @) )
© @ W @ @O @)
O @ v O @ @)
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3. 1857 b gyevor(h) sevsd LUHMIW NeTeU(HLD SaMmISEn6Ts oUW mseT. Seummlsy &)

Fflwmeorg)?

(1)  3deugl eurismeT LFeis sreumlusnLenwE CaIhe @6md FULImil kG LITeTCL &g
o Wy sfsrflenw Crrasls &l HreHsledl iulLmy

(1) OL6veSlemwll UTHIBTES USGHTT OHT @WEHEGHLD eueny o hifHCeWaHEhsE rérmeL
GuITTTig6oTTIy

(111) Glesryev ama Grmen gmetTmesnil sl gUlumenw CHTHS&YSHE, 'HeTFadlwmeTiserflsy Gy
SETTTH @\(HHS GCluetsr @QmiGs @HSEMTT' sretTm| Fam) SeUHEHE W(GHS wiflurens
AERMEY:Alu00))

(iv) 1857 oy yevor(h) Herjed GgsmerlibHlwmr = luL W WNligey @bHwmeneuiu|b
UTE555)
A) (@) wpmib (ii) LD
(B) (1) whmid (iii) wL I
(C) (i1) wmmy (iii) L (HIb
D) (@) wHmib (1v) LLEHIWD

4. &0 Qarhésuul(ster @rewrlh sapmiser, eetml Famml [A] ereTmib  WLHEMTETM)
a&myeserd [R] eresrmyd QuwiflLiinl (Hlememg).
gamnml [A] © gurgev 6, 1930 oyetmy, HMHSHIS) H6voTigull6 2 LI FLLBISEN6T UeDTWMISSTI.
amyesord [R] 1 srhHedlullest sevoriy wirsSHenr smmbhH-@ el eliLihggH et edlenemoum(@Lb.
GmasvstL @\revet(h) Fammisserles GLpedlevy, LlesTel(meuesTeumlev 678 se6Tm)| FFWITesTS)?
A)  [A] vpmid [R] @pesor(hd 2 evsremio, mmid [R] eretruigy [A] @ etr siflwimest eNemsaid
(B) [A] wpmib [R] @ressrhib 2 essrenio, syestmev [R] stestuigy [A] @etr aflwimet efemrdesLn
31606V
(C) [A] eretTgy 2 evsTEmLD, Y6uTEv [R] eT6tTLIG Houm)
(D) [A] erettug) Heuml, s evrmev [R] eretTLIZ 2 6tvTemLD

5.  ulupwe-I g ulyuwev-Il 2 Ler QumEBsHH, HCP Gamhasiulberer @Gmuibhssflsv @mHa
gflwmest LHlemevs CHIH6SH(H&S6LD.

Ul igwiev I uligwiev 11
(a) umgismiy sumsve Cariumh G &Hs (1) 9Crbsms
1916 @ev srrudlysv sLdlemnw aNwFHes Ty
(b) &Gz B FLOH (1)  evmeum euUIA Tl
(c) &Fwyls (111) urdb FHST FLLT
(d) GCzeM Ceergirmessi (iv) srgmumd QBTG
(e) @ndHwuraNsy sumiemio MHMID NI Ig6% v)  sisvuelesil GLTT H5
SI6V6VITS YL &

@ (b @ (@ (@
@A @O v @) 6@
B ) @O @ @ W)
© @ (v @) @ @)
@ @ v O @ @)
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6.

Which of the following statements about the coming of Europeans to Kerala is correct?

(1) The French were the first Europeans to arrive at the Malabar coast and made their

settlement at Mahe.

(1)  Hortus Malabaricus is a twelve-volume encyclopaedia of over 740 plants in Kerala

compiled by the Dutch and published at Amsterdam.
(i11)) Vasco da Gama sailed from Lisbon with three ships and reached Calicut in 1498.
(iv) Cartaz was a ship built by the Portuguese to fight against the kings of Malabar.
(A) Only (1) and (i1)
(B) Only (i1) and (ii1)
(C) Only (111) and (v)

(D) All the above

Match List-I with List-II and select the correct answer from the codes given below:

List I List II
(a) Valiya Kappithan of Travancore army (1) Raja Kesava Das
(b)  Sarvadhikaryakkar (i1) Francisco Almeida

(¢)  Unnuneelisandesam narrates the journey of (1i1) Al Adil Shah
(d)  Tuhfat ul Mujahiddin is dedicated to (iv) Eustachius De Lannoy

(e)  First Viceroy of Portugal in the East (v) Aditya Varman
@ () © (@ (@
@ ) O @ @ @
B » @O @) 6@ )
© @) (v @) @ @)
D) @ @ (W (@) @)
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6.

Cayermalim@ CrmuNwisssiT euheugl UMMl LlesTeu(mHLD sammiseflsy ergl Fflwmers)?

®

(i1)

(111)

(iv)

LeVUT)  &LOHSOTSHE 6ubhgk LrGamuiley Gulwmw  wsev  CrmUNwIFsssT
NG\ (Eh&FESTTTEHET.

CammjLev wevumflsay eetug Gayermallsy 2 eitemr 740 &@EWw CLMULL SHTEUTHISEN6TS
CarmesorL  uettesflfesor(h)  GClBTESH  HMLESSHETEHRFILILTEGL, @& LEFFSHSTITSHETTEY
QT E&ssUILL(H Y beLFLTL60 CleusfluNL Ll g).

euTeCETLSTT 696uLIes 60 @\(HH&I eP6oTM SHLILISVSETHLEST Liwlesrd GlFuig 1498 @lsv
Camfl&Cam(h HeMLBHSTH.

SITTLITE TEOTLIS LD6VLIMTIT LD6BT6BT I} 6D 6T TS TSHHIL Gumrym(hleusmaers
CUTTSSHISEFWTSHETTEV &L L LILILL (T SLILI6.

A) @) wHmid (11) L HD

(B) (i) womid (i11) L HID

(C) (iii) wmmyb (iv) L (HID

(D) GGy 2 66T SiEMEBTSHHID

ulpweo-I g ulpuwev-Il 2 Ler QurEpsH, HCW GamhsslulbHerer GmMluibhselsy @b
gflumest uSlemevs C5IHES (H&&6Lb:

(a)

(b)
(©

(d)

(e)

ullgwiev I uligwev IT

H (NG TrIFaT @) TTesnI618H 65T (1) pgrm Cageu Hmen

6uedlWw STLILNg 65T

FTUTH BTTWSST (1) ygmerAenGair 360GwLT
2 6760|660 &FHCHFLD LIWLIETTSHE05 (111) o469 91960 eumeN6dT
eNeufl&Sma)

lgcoLl 2 60 (PRTaNH6T & & (1v) anlevLrglwen -1g-s0mGesr
SiFliuesilsasiulLg|

s H 6L CUTTEF&&H60165T (LPSH6V V)  SHsW euroest

6066 [T

@ (b @ (@ (@
A @) © (v @) 6@
B O @) @ )
© @) v @) @O @
D @ @ () @) @)
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8.  Which of the following straits separates Russia and North America?
(A) Palk Strait
(B) Bering Strait
(C) Strait of Magellan

(D) Strait of Hormuz

9.  Consider the following statements:
(1) Gutenberg discontinuity is the border between the lower mantle and the outer core
(11) Mantle starts from Conrad discontinuity
(111)) Repitti discontinuity is the transition zone between upper and lower mantle
(iv) The Mohorovicic discontinuity lies between upper and lower crust
Identify the INCORRECT statements:
(A) (11) and (iv)
(B) () and (iv)
(C) (i11) and (v)

(D) (@1) and (ii1)

10. Which of the following latitudes are known as Horse latitudes?
(A) 0-20 degrees North and South of equator
(B) 25— 30 degrees North and South of the equator
(C) 45— 60 degrees North and South of the equator

(D) 75 —90 degrees North and South of equator



122/2025-T

8.  Metreu(mLd BHiflemetsrserfley 6T&) TokwImeneuwDd auL HeIwflEsmeneuwb KNflsHme?
A)  ums Bflemesor
B) Quifir Biflemesor
(C) wrR&evevssT BHiflenewr

D)  ammiev Biflenesor

9. Mereu(md FaMMISENETS SHev6stlu|migeT:

(1) BLLaTours QaTLiFHlullstTend eTetTUEl S PLESHMOEGWL, Gleusfliym enwwSHmEW
@6 L UI6VITETT ETELEMEVIT(SHLD

(1) Guweirig6v HTETITL GGTLFFHAUN6ITENLOUNN (HHGI C\&HTLEIGHH MG

(111)) QrYly OsmLFsFHulletTemo eretTLg GV LHMID &SP PLBSHDEG @emLulsvmest
@\emnLIBl6m6V LOEBITL 6VLDIT(S)LD

(iv) OQurGammCrmeNdls CsTLFgHuNeTem 6Tt Gy MMID &P CCemlLsHmnE
@enLuflev 2 6T6mg).

SHEUDITEST FaHM|HEBET {6MLITEITLD SIT6TOT6YLD:
@A) (1) wpmib (iv)
B) () whmid (iv)
© (i) wpoid (iv)
D) (i) wpmuid (iii)

10. MNestoumd SILECTensS6Iflev (G5 0T L FCTmSHSH6IT 6TeTm| HeMLPESLILI(H6UG] 6T ?
Q) uwsHW CrenssE 0 — 20 WA auLsHE WHMID OS5HEE
B) uywsHW CrenssE 25 — 30 &R euLEE LHMID CFHECs
(C) ywsHw CremasE 45 — 60 w&Hifl 6uLsE LHMID HHCSH

D) ywsHw CremassE 75 — 90 1w&Ifl uLsEG LHMID &HHCH

-9- A
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11.

12.

13.

14.

Match the mineral/energy resource in List 1 with its production region/mine in List 2

List 1 List 2
1. Petroleum a. Koraput
2.  Bauxite b.  Hutti
3. Coal c. Mumbai High
4.  Gold d. Jharia
(A) 1-c, 2-a, 3-d, 4-b
(B) 1-c,2-d, 3-b, 4-a
(C) 1-d, 2-a, 3-c, 4-b
D) 1-c, 2-d, 3-a, 4-b

Which city among the following are NOT connected by the Golden Quadrilateral

highway project?

(A)
(B)
(©
D)

Delhi
Mumbai
Hyderabad

Chennai

Which of the following agricultural research institutes under ICAR is INCORRECTLY

paired
(A)
(B)
©)
D)

Central Plantation Crops Research Institute —  Kasaragod
Central Tuber Crops Research Institute —  Thiruvananthapuram
Indian Institute of Spices Research —  Idukki

Central Marine Fisheries Research Institute Kochi

Which handicrafted item from Kerala was recently awarded GI tag, making it the first

tribal product from Kerala to receive the tag?

(A)
(B)
(©
D)

Nettur Petti
Kannadippaya
Peruvemba musical instruments

Payyannur Pavithra Mothiram

-10- A
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11, ulgwey 1 @6 26iTer Seuflo/UMHMeL eUeTHMS ULgUisd 2 @60 2 6Tem H6eT 2 MHUSSI

LGS/ &TmsS55IL 60T ClLM(HEHSHe L.
uligwisv 1 uliguisv 2
1. QulGymeSlwib a. GamymylL
2. ursensl b. amliy
3.  Blevssifl C. (pemU emam
4.  srsb d. gmflur

(A) 1-c, 2-a, 3-d, 4-b
(B) 1-c, 2-d, 3-b, 4-a
(C) 1-d, 2-a, 3-¢, 4-b
(D) 1-c, 2-d, 3-a,4-b

12. sms prHsr CB6HERFTENS SILLEHSTEL @en6stTSHSLILILTS HETLD 6T5|?
(A)  GlLeved) B) penu
(C) evamsyTUTS (D) Qe&sremert

13. ICAR @eir & srer  Netteu@md  efeusmu  gumisdl Hlpeuermgefley 68  HeumTs

@ enesTSHSLILIL(H6T6mg)?

A)  wsHw CaTLLL LUNTH6T Y rmiss HinieueTd - STFFCaHT(H

B) wsHw Hprig LUNTE6T QY TTLES HimieuesTd - &(HeUSTHSLYTLD
(C) @bdHw weameur g rmiigd HmieesTid - @ HsH

D) wsHwW &L6v WesTeusT Mg HlmieuesTid - Qamgd

14. CGagermelleSl(pbg 6ube 6HS emsEalleneTl  CUTHEHSE FBUSHL Lalemy Gmluih
eupmIsLILLL G|, @8 Carermalled(mhHgl CLE UMM (W&H6L LILPHIEGLy SWTHILIL] oY, &LD?
(&) QBLET Cucy
(B) sstrevTigliiw
(C) QuEQeubUT @ensssmeN&sT
D)  evuwenTy LENGT CTHTD

-11- A
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15.

16.

17.

18.

19.

20.

21.

Which international organisation defined globalisation as the ‘unrestricted cross-border
movement of goods and services, capital, and labour’?

(A) World Trade Organisation
(B) International Monetary Fund
(C) International Labour Organisation

(D) United Nations Development Programme

Which of the following names is not associated with the Green Revolution?
(A) Norman E. Borlaug (B) C. Subramaniam
(C) Bimal Jalan (D) M. S. Swaminathan

What 1is the primary objective of the Pradhan Mantri Fasal Bima Yojana
(PMFBY)?

(A) To provide minimum support prices for all crops
(B) To ensure affordable crop insurance and risk coverage to farmers
(C) To supply free seeds and fertilizers to farmers

(D) To promote organic farming practices

Which of the following products is not exempted from GST in India?
(A) Fresh fruits and vegetables (B) Honey
(C) Newspapers (D) Packed biscuits

Which of the following financial instruments is primarily used for hedging, speculation,
or arbitrage, and derives its value from an underlying asset or index?

(A) Repurchase Agreement (B) Treasury Bills

(C) Government Securities (D) Derivatives

Which one of the following sequences is correct in the context of the three largest
coffee producing states in India?

(A) Kerala — Karnataka — Tamil Nadu
(B) Karnataka — Kerala — Tamil Nadu
(C) Tamil Nadu — Kerala — Karnataka
(D) Telangana — Karnataka — Kerala

A mineral in which India is one of the leading producers, used in steel manufacturing, is:
(A) Manganese (B) Nickel
(C) Copper (D) Cobalt

-12- A
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15.

16.

17.

18.

19.

20.

21.

2 6UBLOWIDTESEN6Y 'CILM(HLEST MHMILD CFemeUss6T, PLPEVSHETTID LMHMILD 2 emLPLILN6tT &L (HLUmLHm
ETEVEDIEV HTEBOTIgLI @IS SHLD' 6T6ITM)| UM TUIMISHS FTeUCHE SeMLOLIL| 6T&I?

Q) 268 uFs55Hs SemLIL

(B) &#reuCse mmesorw Hl&lwib

(O) &reuCaa Qgmflevmer SemLoLiL

D) omaHw prHsstls GoLUTL(HE HILLLD

esTou(HLD ClLIWITEET6L 678 LISTeMIOLI LFLIU|L65T GISTLITL6DLIIS| H6V60?
(A)  mmywesr @. GuTFevme: B) & s Ngwesoflwid
(C) Nweb mevmesT (D)  erb. eren. SrEUMLABTS 6T

Nysmet HHF soLigsv 1Sm Cuirggssrrefsst (PMFBY) pastrenio Crmssib ereresr?
A)  siemerTsg LUNTEHEHS G HMDHSULF U576 69606VEHEN6IT CULPMEI(E 60
(B) efeusmuisEnsE wedey aNemevuiley LUNG s&mllSH wHMIDL @LF sridlenr 2 mih
ClEwIgH6v
(C)  eNeusmuilsEmé @ @sveud e96en& &6 LDMMILD 2 [BIGEN6T 6ULPMHI(ES60
D) Qubems eNeusT HEOL(LPENMESENET 26 e (& 65560

@h&Hlwmalsv Nesreu(md SwmiflliLgssrlsv st gdlereviguNed)(Hbg 69608 (G, SiefleaLiLLallsueney?
A)  ydHw urassT LHMID STisN&6T B) GCaetr
(C) OQeufHszrerssT D) Cus QewwiiulL NevaL a6l

Neteupd  HHle  smellseafley  eg  (pHeTemLWITS GlanLgPin, o2&  HeVevg  HH6UT
BLAUYEMEHS G LWeTUHSSUUHISIMGI, GV 56T EILImL (M HgLILOL CIFTHE| H6V6VEI
GO GHS ClunIEIDSI?

A)  m O&TETPSHEL eLILIHSLD B) smausv NevasiT

©)  oirsusHrrisst D) euflsCammesTmevas6T

@nHwureallsv &9 2.mush Cewuww epetml Cuflw wrhlevrmsefler (@Wedlsv LN6sTeu(HLD
suflengaerflev erg) siflwimerg)?

(A)  Caryem - &IHTLET - SLODBT(H B) srBrLET - CaiyeTT - HLOPHT(H

(C) sWOPBTEH - Ca6TT - SFHTLST D) OQsmsTeTT - HFHTLEST - GaFemm

®R(h H6evflD 6Too@ 2 MmusHH N LwsTUHISSUILIHIWD (peiTeTessil 2 muSHwWmeTaelev eetTMTS
@rHur Qe e

(A)  wrisefs B) MHess

(C) smAyb D) GCamumsvl

-13- A
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22. A child in a developing country presents with severe xerophthalmia (dry eyes) and an

increased susceptibility to respiratory infections. A dietary analysis would most likely

reveal a chronic lack of:

(A)
(B)
(©)
D)

Foods rich in ascorbic acid
Fortified milk and sun exposure
Yellow and orange vegetables and fruits

Whole grains and legumes

23. Of the following four common health metrics, which is the best indicator of cardio

respiratory fitness?

(A)
(B)
(©
D)

Resting Heart Rate
Blood Pressure

VO, max (maximal oxygen uptake)

Body Mass Index (BMI)

24. In an aquatic ecosystem contaminated with mercury, which of the following organisms

would be expected to contain the highest concentration of the toxin in its tissues?

(A)
(B)
©)
D)

Phytoplankton (algae)

Zooplankton (microscopic animals)
Small fish that eat zooplankton

A large predatory bird that eats the fish

25. How does the process of pasteurization make milk safe to drink?

(A)
(B)

©)

D)

It sterilizes the milk, killing all microorganisms including bacterial spores

It uses high heat to kill pathogenic (disease-causing) bacteria and reduce the
number of spoilage microbes, without significantly altering the nutritional

value

It adds beneficial bacteria (probiotics) to the milk to out compete any harmful

ones

It filters the milk through a microscopic sieve to physically remove all

bacteria
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22. eusT(HD BILIYEY (H (GHLHMSEE S(HENWTET H6voT UM (H6voTH6IT UML) MMID SFeurs
CrmUSCISTMHMIHEHEE NSHS 6UTWLIL] 2 6Temgl. @@ 26mTe| UGUUTS| GlLHUTE)|D
L9l65T 61 (TH6U6BTELM M) 63T [H6BOTL &6V LIMMITE G emMen GleusliiLi(hggILb:

(A)
(B)

(®)
D)

SI6V&MTLNG HLBlevid HlenmIhE 2 650T6 &61T

Clemley LU L Lmev HMID (& Fw ¢erfl

LD(Eh&6TT LDMHMILD T (6H& SMULISMISHET LMHMILD LILPHEISET
(PP STesflWLmISET LHMILD LIHLIL| 6U60&SE6T

23. Netreu(md mmetT(E ClUmgleumert &&THTy Semei(h&efley, @sw sFours YPCrraHWwSSHer FHMbhs

GOSTLIg 6T5)?
A uEaOsEGD GW Sl
B) Qrss SiwssD

(©
D)

VO, silaulsb (oHaula 85606t 2 1) Ehas6v)
2 L 6v Fleom &MUl GlLessr (BMI)

24. uUTEHTFSHSTEL LIKULL BIUTD &HMOHMIFEGHLPD HenwLLNey, NeTeud 6hg 2 uliflerd e
&&8:861160 D S\& 366 [HEFESHS6TENLENIS C&TEsoTLY(HE GHLD 6T6dTM)| THTUMTSSLILMHSEMEI?

(A)
B)

(©
D)

UL GLm emmmigLebT (Lme)
oo®)1N6mThigL6dT (MHl6soTessflw eN6vrhi (& &6iT)
IO N6MTIS L 6m60T 2 6BoTewm) LD Fljluwt LBesT

LBement 2_svoTermILd 6@(h ClLflw GeulemLwim(hib Lmemel

25. Guen(hengCaanet ClEFWw sV (Lpenm LITEN6D TEUEUTM)| (59858 LITGISTLLITETSTS LTMHMISME?

(A)

(B)

©

D)

@& umemev & (HUW HESL ClEwg, urskeflur aNSHHEET 2 LLL HeDTSHS)

Hl6s0T658) | UNIfl&BemeTb Gl&mevsy|LD

o' | 555 WHLImL SesollFwms wrHmTey, CHmlgEE (HD (CHTEMW 2 65TLTE ELD)

UMSLeflWTS & 6m6Ts Gl&mevsveyLb, Q&L [HILGUMELD 15| 6v0T 61) | U9 f 1 &5 61 65T
6TEBOT6TTI 160 HEM WS (HMMESHLD @& HH& GleuliLgGemnsL LiweTU(h &S mal
ThSoleum(m SmiG aflensrails @Gl UMseflwumsseneTwd a&HlisgIl Curliguil @&
LImeSl6L HESTENLD LIS G LMsleflmssener (LCTmUW My s 8 s6T) CFyssmal

@& SHem6eTTHG| LUMSLefWMSHSn6TLD 2 L6V FHWTES HHMM 6(Th HI6voT6rn W F606060)L

ELPEVLD LIMTEm6L elg &L (H&SIm&I

-15- A



122/2025-T

26. An environmental agency tests a water sample from a river downstream of a sewage
treatment plant and finds it has a very high Biochemical oxygen Demand (BOD). This

result indicates:

(A) The water is super saturated with dissolved oxygen and can support large

fish population
(B) The water is likely contaminated with heavy metals like lead and mercury

(C) The water contains a large amount of biodegradable organic pollutants

(D) The water has highly acidic pH

27. A tourist in Kerala develops watery diarrhea, vomiting, and severe dehydration with
electrolyte imbalance. Stool culture reveals “Rice-water stool” positive for a gram-
negative, comma-shaped bacterium. The most likely diagnosis is Cholera and the

immediate, life-saving treatment is:
(A) A course of strong antibiotics
(B) Oral Rehydration Therapy (ORT) with a solution of water, sugar and salts
(C) An anti-diarrheal medication to stop the fluid loss

(D) Immediate surgery to remove the infected part of the intestine

28. What is hypertension?
(A) A condition where the level of sugar in the blood is consistently too high

(B) A condition where the pressure of the blood against the artery walls is

consistently too high
(C) A condition of extreme anxiety and stress

(D) A condition where the body’s heart rate is dangerously low
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26. o FOHMIFGLPL HineusTd @ sWebB] &Sl BlemeowsHler HPCHTES 2 6T6m (M
BEWNO g BT wrSlfleow uflCeTHss, HHlev Wle HHs 2 uNFCeudhluluiey oy sedleest

Cpemeu (BOD) @@LiLenss s ilbsgl. @bs wiye| GBI
A) Bflev serhHs WHeOIReT  HlsLTE 2 6Temgl  LOMID  Cuiflw  Wetraerfles
6T6s0T6Bs 1B 6m & 6m W Y, & 1flE8 (PlgWLd
(B) sevorewfiflev Fwibd mmIb UTHTEFD GUTETM SH6vT 2 GeVMHLIGHET DTS LIL LY (HESHEVITLD
(C) sevorenfiNen oH& 6oy &G SR LTELIT(H&ET 2 6T6mesT

(D) sevrTenfiNey Ha SiblevsHeiTend Qameser pH 2 semg)

27. Gapemmellsv e smmierl LwesslleE@ BF euuNHmiiGumsE, summbdh LMHMID 6TevsELGrmensvLl
gpleneoulstremowLest Sl Bl gHUBSIDE. ey SHeurgamyd "Oifléf B weub" &lymb-
eTHTEMM, STMHL 6T eulger LIMSLeflwimesE FTHeHWms @(HLLMSS STL(HEME. GlL(HUTE|D

CrmwM5ev &TevrT MHMID 2 L6wTly, 2 UNF &T&ELD H&&ams:
(A)  eusyieumert mievoTEEUNT T TLILN S 6T LitgLiL
(B) 187, 7sseny wHmID 2 Ui sefler senyaeyLer sumiieulf) ECrmHm H&lgens (ORT)

(C) Sreu @uienu HMISS @ UUNHOILCUTSE TS TUY GHHE

(D)  ©BLeeT uTHEsLLLL LEGHenw HEDHM 2 LewTly Simieneu HfFamns

28. 2w QUSHS H(PSHSLD ETETMITEV 6T60T60T?
(A)  @rsssHle0 FHHOT Si6Te| CSTLIHS HH &S Q[HSEGLD @ Hleney
(B)  swefl seaujsefled Qris AHWSSD BTLIHS HSBLTE QHEEGD @@ Hleney
(C)  Bafly uBLLID HDILD 6T HWSBSBHT @B BHlevey

D)  2.L66r @aws HiyLL USBTET WYenDUNEL GEMDEUTE GG @ Hleney
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29. While coming to a stop, a cyclist skids 5 m. The road exerts a 200 N force opposite to the

motion?
(a) Determine the work performed by the road on the cycle.

(b) How much work does the cycle do on the road?
(A) —2000 dJ, 2000 J
(B) —-2000d,04d
(C) -1000 4, 1000 J
(D) -1000d,04d

30. Why is it dangerous to hold your breath while ascending from depth during scuba
diving?
(A) Oxygen dissolves in blood faster
(B) Nitrogen escapes violently
(C) Lung air volume expands due to decreasing external pressure

(D) Heart rate increases rapidly

31. Which of the following statements about ISRO’s SpaDeX mission is INCORRECT?

(A) SpaDeX demonstrated and validated technologies for rendezvous and docking

1n space

(B) The mission involved two spacecraft, designated as Chaser and Target, which
dock together

(C) The technology developed in SpaDeX will be crucial for future lunar missions

like Chandrayaan-4

(D) SpaDeX utilized a large, heavy spacecraft to dock with a smaller, lighter one

32. Which requires more fuel: a voyage from the Earth to the Moon, or a voyage from the
Moon to the Earth?

(A) Voyage from Earth to the Moon
(B) Voyage from the Moon to the Earth
(C) Both require the same amount of fuel

(D) It depends on the specific trajectory
-18- A
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29. @m BHNSS5SDEG BLEUTE, @M m&sHer @Lbhlusuy 5 IS FmSGSDTY. FTemey
QusssHME erHCr 200 N ellengenwd CFa58 S ma)?

(@) &nHAUNE FTemevwmey CFwLLLIHIL Colensvend &imesflease D

(b) Fmemevulev &ipme eTeueU6TE Couemev QFWIHMGI?

(A)
(B)
(©)
D)

—2000 J, 2000 J
—-20004dJ,04d
—1000 J, 1000 J
—-1000J,0d

30. evsaum enLeNmsler CuUTEH UWHSHONHHEH CwCeumid Curg 2 mseT epFamal NigsHsis

Cl&TeTeLG)| 6T60T Y, LIS SHTEOTSH|?

(A)
B)

©)
D)

2, B61012065T @7 & SH5HH 60 CoUBLOTHE HEMTH MG

6MBLITE60T 6u6tT(LPenMUNL GCleualCum IS ma)

Qeueflliym W& HsmmeusTev HlenFuiysy srHmler STy elifleusnL S Mg
@sWws iyl Ceusrs HHsHsHE e

31. @evGrmeallest eCLGILS&eN Lisssfl Lmmlw NedTeu(HLD FammIs6lsy 6T&) &eummesTs?

(A)

(B)

(©)

D)

aflesorGleusifluiley sBSILL WLMHMID LISSIRE GlFleugmaTer C&TLP6umILLIKISEn6T
enGLIGILE6M hlemL &g FAUTT&HSHE

Ggevy LMMID LIFOSL eTesr HlwblGSLILLL @ Fetor(h) aNetraseumseneT @)hg Liewsf
2 6TEMLEEIWG), S{6M6U RETMITE @)6m650TSH & LILIL (H6T6mesT

ghdHlywmer-4  Gumestm  eTHFHETL  FHSHT LWETERISEHSE 6VGLGILS60sv
2 (HeUMmssLIULL CISTLH60HILLID )& (W&HSIWILTETSHTS @) (8 (&L

Alw, @euEeureT eTemm  @leneteTsHs  VGLCILEN @ Gluflw, SeoTomest
eNevoTSHeVSH 6051 L6t (H&SH W]

32. yluNed(mHa FHETDISHE @@H LWe6TD, evevg FhHlrefley @mmha LW&E @@ LWe6sTLD.
THME A& eTflelLm(msiT CHemeuliLihHma?

(A)
(B)

©)
D)

WBIUN6N (BB &I &b ren)8 @)L LIWLesTLD

g resilev @\ (HH&I L& (8 LII6soTLD

@ revoTieM (&L G 36mey erflILmmeT CoHeneuliLI(hH& ma|
@& GOUILL uTeagemwLll QUTNISHSHS
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33. A cricket player lowers his hands while catching a fast ball. Which Newton’s law is
directly applied, and why does this reduce injury?

(A) 1stlaw; extends time to reduce inertia
(B) 2»d]aw; increase time, reducing force
(C) 3rdlaw; equal reaction force cancels

(D) 1%t law; prevents backward motion

34. A submarine can rise or sink in water by controlling its ballast tanks. When the tanks
are filled with water, the submarine sinks and the tanks are filled with air, it rises.

Which principle explains this ability?
(A) Bernoulli’s theorem - faster flow reduces pressure
(B) Archimedes’ principle - buoyant force depends on displaced water
(C) Pascal’s principle - pressure is transmitted equally in all directions

(D) Newton’s third law - every action has an equal and opposite reaction

35. Match the following EM wave types with their application

EM wave type Application
(a) Microwaves (1)  Used to kill germs in water purifiers
(b) Radio waves (i1) For radar systems used in aircraft
navigation
(¢) UVrays (i11) For broadcasting
(d) Gamma rays (iv) Used in medicine to destroy cancer
cells

A (@)-@1), (b)-(D), (¢)-(1), (d)-av)
B)  (a)-(ii1), (b)-(Gi), (¢)-(), (d)-(v)
©  (a)-@1D), (b)-(11), (¢)-(), (d)-Gv)
D) (@)-D), (b)-0), (¢)-(ii1), (d)-(v)
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33. CGeuswmerr uUbBemsSL Ng&HGHWweUng @@ HN&ECsL 6Syy Hearg &EHM6TS STPSHISIMTT.
Blu L Lesflet erhg 698 Crrgwrsl uweTUHSSUILMKEDSI, @& F6iT HTLSMSSE (&HMMESSIMS|?
A)  leug eNd); LHSHlEOELVEOWS GHMMES CHTSHMS BLlgsH M
B) 2eugl a0 CrrHmMS SHBHEH0|D, alenFensd &6emMmesHe|D
(C) 3eugl aN&); gwwmes erHlFallenss ellend rHg ClFWISME)
D)  leugl eN); NeTCerTTEH W QUISHHMES &[HSHH MG

34. o BIeppdls sULL &6 HleneliLhiSSHID CSTLYSmers SL(HLLHSSHI6USET EPEVLD
gevoresofifleb 2 WrGeur oy6vevg) epL&SGCeu (Plgwbd. C\STLiggssT Sevoreusfflev HITLILILLIHIDLEUTS),
Breppéls SLL6L D@L LHMID CSTLYEsT STHMTEL HIFUULUUGILCUTS, g 2 WFSHDGI.
@h&5 HmenerT 6The S Gl&maTens e6Ims &SI MEI?

A)  QuiGeeredufNesr CHMMLD - CeuGLOMETT RLLLD S(PSHHMGHE (HMMEH MG

B) <yssldlgedls Gasmerens - LBgLIL eleng @LDOLIWTHS BTl ClUmmISsHs)

(C)  umevs6S6iT QETETENS - H(WPHSLD HMETHG| HlenFas6ifle|d FLOOMTE LITe|H M)

D) By liesfler epstTomeug eNF - @eubleumm GFWaIHEGLD FLOWLTET LOHMID THIT
Tl Fedlement 2_6iTemg)

35. Metreupd EM o4emev euensasensir ojeummest LiwesTLITL(HL6T QUM (H5 56 b:
EM gjemev susns vwestum(h)
(a) mIEETETITEM6VS6IT 1) B &sHsfluTeTsefsy £ (HEm6TS & mTeveuL LW6TL(HEIMmE)

(b) GCryCur yemevaer (1) eSwmest ULPEFNISHSHE0N60 LIW6STLI(H&HSLILI(HID CrLmy

SIEMOLIL|E(ETHE (5

() UV agiser (1) esflurliNmHE,

(d) =morsHiser 1v) ymmICHMI QFeIEEn6T LGS LO(hHSSI61G5H60
vweTU(hSSLILHIE DS

A (@)-@1), (b)-(D), (¢)-(11), (d)-Gv)
B)  (a)-(ii1), (b)-Gi), (¢)-(), (d)-(v)
©  (a)-@D), (b)-(11), (¢)-(), (d)-Gv)
D) (@)-@D), (b)-Q), (¢)-(ii1), (d)-(v)
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36.

317.

38.

39.

40.

41.

42.

Name a compound used as antioxidant for packaged foods :
A) MSG (B) Baking powder

(C) Vinegar (D) Butylated hydroxyanisole

Which of the following metals do not cause toxic contamination of food?
(A) Lead (B) Mercury

(C) Cadmium (D) Aluminium

What is the acid present in vinegar?
(A) Acetic acid (B) Tartaric acid
(C) Citric acid (D) Formic acid

How many elements are present in the first inner transition series?
A 16 (B) 10
(C) 18 D) 14

When 3d orbitals are completely filled, the new electron will enter into :
(A) 4s orbitals (B) 4p orbitals

(C) 4d orbitals (D) None of these

What does the magnetic quantum number signify?
(A) Shape of orbitals (B) Nuclear stability

(C) Orientation of orbital (D) Size of orbital

Which among the following properties decreases left to right along a period?
(A) Ionisation energy (B) Electron affinity

(C) Atomic radius (D) Valency
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36.

37.

38.

39.

40.

41.

42.

CBTGSBULLL 2 6mTes(EhHEE WHeOICarmmlursl uweTuhSSUUbHD @ Gyt
Cluwenys GMILLL6LD:
@A) MSG
(B) CusHim usyLy
(C) eNesflaiy
D) Yy lyGelLl emamlyrasdlwmeslCamsy
NesTou(HLD 2 Cevmasmigeiflev 618 2 ewoTallsv HES TSHFUTLenL FNHLUHSSTSHI?
(A) mwbd (B) umsrsb
(C) smidlwbd D) odlesiiwid
eflesfl&sifley 2 siTem yLblevid 615?
A) o8l ys levid B) vLryums oibleud
(C)  HALN& yblevid (D) GoumyLile Syblevid
(LP&6V 2 6T BlemevdmmME CISHTLIS6V 6T8S6M60T &65fILOMIGET 2 6T6T6nT?
@A) 16 B) 10
(C) 18 D) 14
3d gL LTeVsBem6T (W (WemwTs HIFLbCUTE), L&HW erevsLrmest @6V HIemLpw]Ld:
(A)  4s o NLLTeVS6T (B) 4p &yl mevseir
(C)  4d gy NLLmevseir D) @eumnlev eTgi0|Bl6VeM6V
SIMHS (G6UITESOTLLD 6T650T 6T60 &S (HMISHSIMSI?
A) L TevserfletT bulgeuLD B) oamssm HensvsseTenLo

(O) i medeir CrTs G Henev D)  eFNCLTedstT 6Tey

L96tTeU (LD Li6soTL|S6TFl6V 6T&I 62(h (PHMILIL|6T6TTIU|L65T @O (HIHSI 6U6VLTEHS (§enME ME?

Q) swellwurssd o mmev (B) erevsLymeit Q&ML
(C) oiaml oy (D) Geusvesrd
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43.

44.

45.

46.

47.

48.

49.

50.

The story and screenplay of the movie Neelakkuyil was written by :
(A) P.Bhaskaran (B) TUroob
(C) Ramu Karyatt (D) K. Raghavan

The ritual ‘Akkitha’ is associated with :
(A) Kudiyattam (B) Mudiyettu
(C) Yakshaganam (D) Padayani

Sahodaran Ayyappan organized first Misrabhojanam at Cherai in :
@) 1911 (B) 1901
(C) 1917 D) 1924

Porulathikaram is a part of :
(A) Purananuru (B) Tholkapiyam
(C) Akathiyam (D) Thirukkural

Baris is believed to be the ancient name of the river :
(A) Bhavani (B) Bharathappuzha
(C) Pamba (D) Periyar

Kumaranasan wrote “Enthinu Bharathadhare Karayunnu? Parathanthryam

vidhikalpithamanu Thaye” in :
(A) Gramavrukshathile Kuyil (B) Oru ulbodhanam
(C) Oru theeyakuttiyude Vicharam (D) Simhaprasavam

Which is the character called as “Mucheettu Kalikkarante Makal”?
(A) Suhara (B) Sainaba
(C) Ayisha (D) Pathumma

The first Malayalam short story-Vasanavikruthi was published in :
(A) Vidyavinodini (B) Vidyavilasini
(C) Bhashaposhini (D) Jnananikshepam
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43. 15608V LLSSH6T H6m& MHMILD SHlenTeHeHensenll 6T (Lplwieu:
(A) P.umevsrest B) eempu
(©C) gmep smHwL D) K. grseusst

44. ‘BT FLLIE QHIL6T CGTLILEOLWISG]:

A)  GywriLbd B) wyowLpE
(C) woeausTerTD D) uemLwessf)

45. sCGamTHreT SWWLILET (PpSHeL WlengCummersens Garuiuisy goumb ClEwgmry:
A) 1911 (B) 1901
(C) 1917 D) 1924

46. QuUTHETHSMILD 6(H LGS
A) yomrenmm B) QsmevaTINWLD
€) omgHubd D) HwsGmer

47. umflelv pSHUIesT ListETEn LW ClLIWIT eTesTm) HLOULILIHE MSI:
(A)  ueumresf B) umrslyT

(C) wbumr D) Quilumy

48. (gwrreTTFET TSI "sTHSHm LUTTHSTCT STuesTen? UFsShHHIT aldlasolswsn srGw" sretTm

Lbse:
(A)  #HymwsumaagsEH Gev (GuNev B) s earCuTgsHTD
O emFuELlyyGL eNamyb (D) AwvwNyFsud

49. “WEFL(H H6955TeTEL 6T 6T6TM] HEMLP&HSLILIHID LITSSITD 6T5):
A)  sawomym B) emseTuT
©)  spulagr (D) urggidwT

50. (W&6L eneVWITET FM|&em&-6ugFerTal&(hHS CleusluNL LiLICLg):

A)  aNswreNCerrmenf] B) eaNgwreNevrdes
(C) umawGumradles (D) (EpreTH CoagLD
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51. Which of the following statements about the National games held at Uttarakhand in

2025 is correct?
(1) Sawan Barwal won gold medal in 10000 metre race and created new record
(i1)) Dhinidhi Desinghu won gold medal in swimming and created new record
(i11) Mehak Sharma won gold medal in weightlifting and created new record

(A) Only (1) and (i1)

(B) Only (i1) and (ii1)

(C) All of the above ((1), (i) and (ii1))

(D) None of the above ((1), (i1) and (ii1))

52. Choose the National-level sports organizations of India from the following options
(A) PCI and IOA (B) IOA and IPC

(C) IPCandIOC (D) PCIand IOC

53. Which of the following correctly represents India’s medal tally at the Paris Olympics
20247

(A) 1 Gold, 0 silver and 5 Bronze
(B) 0 Gold, 1 silver and 5 Bronze
(C) 0 Gold, 2 silver and 4 Bronze

(D) 1 Gold, 0 silver and 4 Bronze

54. Which of these is the fastest type of memory?
(A) Cache (B) Hard Disk

(C) USB (D) RAM
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51.

52.

53.

54.

2025 @6v 2 5575M6u0TIe60 HEOL6lLUMM CHFAW aNensrwimi(higssT LuMMIw esToUHLD Fammiserflsy
e1g) Fflwmerrg)?
(1)  Feumest ufsumsv 10000 BLLY LLUUBSWSHSHL ShisL LHHSD GeussTm| LW Frgenesr
LeOLSSTT
(1) HHF Cofmig HEsedlev HRIGL LGS GleuetTn| LS FTSHen6rT LIGOLSSTT
(i) Gams FFLT LIEHSTHES0160 RIS LIGSHSLD GleustTn| LHW FTSHe060T LIENLSHSTT
() ) b (if) LG
(B) (1) womib (1il) wi({Hb
(C) Cuwlev 2 siTem emerTagID (1), (11) MM (1i1))

(D) GuwGev 2 ser sTg 16D @6vemsv ((1), (i1) LHMID (111))

Metteupd  eNUUESsTeOBBa — @bHwurealssr  Capfl  gemafleumesr  ellememwiml(h)

SienwLliLseners Csie] Clewiwe]Ld:
A)  PCIwmmio IOA (B) IOA wmmiw IPC

(C) IPC wmmibIOC (D) PCIwmmiwb IOC

Netreu(meueTeummley ergl Umfleiv eedlbifNg 2024 @b @bSHIWITeN6T LS8 6T6wT6rsf186086m L
slurss Gn&EME?

(A) 1 smsw, 0 Geusitef LHMID 5 CleuesTSH VLD

(B) 0smsw, 1 Qeusefl HMID 5 GleusstTEELD

(C) 0 srsb, 2 Qeusitefl LHMID 4 CleuEBETEEILD

(D) 1 smus, 0 GleusTefl LHMILD 4 CleuesITSHEVLD

@eumnlev erg| Geussomest GIOLIf emLLI?
A) Gs& B) awmil iyevé
(C) USB (D) RAM
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55.

56.

57.

58.

59.

Which application software is primarily used for managing large data sets?
(A) MS Word (B) MS Paint

(C) MS Access (D) VLC Media Player

The act of assigning a value to a variable is a :
(A) Control instruction
(B) Store instruction
(C) Transfer instruction

(D) Output instruction

Which device connects multiple computers in a LAN and filters traffic based on MAC

addresses?
(A) Switch (B) Router
(C) Hub (D) Bridge

Which of these devices performs packet switching and determines the optimal path for

data?
(A) Switch (B) Hub

(C) Router (D) Bridge

What does the <a> tag in HTML define?
(A) An animation (B) An anchor for hyperlinks

(C) An audio file (D) An attachment
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55. Quiflu sreays GsmELUsemer HFeudlss 6bhg LweTUTL(H CsTCILM(HET (HSHETEMOWITSLI

LweTUhSSLILHSIMS?
(A) MS Word (B) MS Paint
(C) MS Access (D) VLC Bywr NGsrwiy

56. e(m Gaurflwiglev HLIEOLI 658 @ELD C1FWe6L:
A)  sLHUuTL@ suwenrm
(B) eGLTT suflemm

(©)  uflbroOD euPenm
D) QeusfluiL{H eupemrm

57. ebg erserd @@ LAN @6 L seflleaflaamst @enssorsg MAC paeuflseflstt ojgliLienLuiley
19T MooLN& colN6VLIT ClFWIS MG ?
(A)  evell e B) emLLy

(©) amo D) O

58. @by srsermseflsy g UTHOBEL eveallLHArhimaessd GCFWEHMG LOMID HTEYSSHTERT 2 HhHS

Lrengenwl SFmesflsSme?
A)  eveillE (B) amu
€)  eioy D) 9O

59. HTML @ev <a> gm&Cl&mev stens suenimi&HEma?
A)  @m oiesflGeagesr
(B) emamiiLfeSIkig e emaasme ek ou,60Ts )
(©) e Cur Gamiy
D)  @wm» @ememriy
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60. Find the value of 0.5x0.05 x 0.005 x 50 x 500

(A) 3125 (B) 0.03125
(C) 0.3125 D) 3.125

61. If the price of the commodity is increased by 50% by what fraction must its consumption
be reduced so as to keep the same expenditure on its consumption?

(A) B)

©) D)

[l RN
Wl Wk

62. On a certain sum of money, the compound interest for 2 years is Rs.304.5 and the simple
interest for the same period is Rs.290. Find the rate of interest per annum :

A) 9% (B) 8%
©) 11% D) 10%

63. A bag has Rs.785 in the denomination of Rs.2,Rs.5 and Rs.10 coins. The coins are in the
ratio of 6 : 9: 10. How many coins of Rs.5 are in the bag :

(A) 60 (B) 12
(C) 45 D) 24

64. 3°x3*x3° isequal to:
@ 3 ®B) 3
€ 3 D) 3

65. Ram and Shyam together can build a house in 10 days; Ram and Arun can build it
together in 12 days and Shyam and Arun can build it in 15 days. Shyam, Arun and Ram
start working together. In how many days they build the house?

(A) 4 days (B) 6days
(C) 8days (D) 12 days

66. If a, b,c are in Arithmetic Progression, then which one is true?
(A a+c=2b B) b+ta=2c

©) czaT”’ D) atc=b
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60.

61.

62.

63.

64.

65.

66.

0.5 x0.05 x 0.005 X 50 x 500 @)6ir HIEnLIS SevrLolweyib.

(A) 3125 (B) 0.03125
(C) 0.3125 D) 3.125

@ Glummmeflesr eflemsv 50% HHSFEHSHTL, ST HISTEYSESTET GlFevemel CH iemalley
DEUSH) (HESH SIS60T HISTE 6THS LNETETSH STV (&0 M&HSLILIL Couesor(hb?

A) (B)

©) D)

[N RN
wlih |

R GOILNLL C5TenssE, 2 U TbHSEhHSE Fal b eully em. 304.5 LOHMID HCEH HTVEHSHM S
eTerfll ULty erm. 290. oy680T(H & () UL Ly eHBHE5mSH8 &HevoTLMlwieyLd

A) 9% (B) 8%
©) 11% D) 10%

Q(H mUUN6L ¢m.2, ehH.5 WMMID .10 HresoTmhiSGsIfleT SILILN6Y (H.785 2 6T6TG|. [HITESOTLIMISH6IT
6:9:10 eTedTm 69 &1HSHH60 2 6T6T6wT. 6OLIUNGD 6TESH6M6TT (MF.5 [HITETOTIIMHBISET 2_6TET60T?

(A) 60 (B) 12
(C) 45 (D) 24

3’x37*x3° @smhEE Fwb:
@ 3 (B) 3
c 3 D) 3

JTWWw, epwmwd Caimg 10 mrissfley @@ eSlenLs SLL (PlWbd; FTIpW, H(HaBID, CaIHal.
12 priserfley sLL (PlguLd, 6uWITIOLD H(HEBID 15 BTL&6Il60 &L (LgU|LD. Q%WITLD, (63T LDHMILD
g eeTors CaHibhg Ceueney CFWIWs OSTLMIGEIMTTHET. HEUTHET THHEN6ST HTLS6I60
eSLenL 8 &L(HEMTFaH6T?

A) 4 mriser (B) 6mriser

(C) 8mrissr D) 12 priser

a, b, c 6781 SINS6ILLIYE NCTTHTONET & @) ([HHSTEV 6T 2 6BITEML ?
(A) a+c=2b (B) b+a =2c

_a+b

© ==

(D) a+c=b
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67.

68.

69.

70.

71.

72.

73.

74.

The side of a square is 8 cm. If its side is doubled, then its new perimeter is :
(A) 64 (B) 81
© 121 D) 32

Find the missing term in the given number pattern :

5, 13, 29, , 125, 253
A) 83 (B) 69
(C) 61 (D) 65

Find the odd one out :
A 3:14 B) 5:18
(C) 8:24 D) 6:30

In a certain code “FANTA” is written as “ LGTZG” . How 1s “ CRICKET” is written in
that code?

(A) NSKLIEA (B) FKCLIEC
(C) TXOIQKZ (D) OWMAMDK

Pankaj is the son of Rajesh and Swapna, while Deepa is the only granddaughter of
Sheela who is the mother of Prakash and Swapna. If Prakash is unmarried and brother
of the wife of Rajesh, then how is Pankaj is related to Deepa?

(A) Uncle (B) Brother
(C) Father (D) Son

A train of length 400 m takes 15 seconds to cross a train of length 300 m traveling at
60 km/h from the opposite direction along a parallel track. What is the speed of the
longer train in km/h?

(A) 108 (B) 102
(C) 98 (D) 96

It was Sunday on Jan. 1, 2006. What was the day of the week Jan. 1, 2010?
(A) Sunday (B) Monday
(C) Saturday (D) Friday

Choose the correctly spelt word :
(A) Compassionate (B) Compasionate

(C) Compationate (D) Compassionete
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67.

68.

69.

70.

71.

72.

73.

74.

R FSHITSHSH6T LSS 8 Gl&.15. Y (&HLD. SISH60T LISSD @TLigliimSSLILILLITEY, H&H60T LS SHmere :
A) 64 B 81
©) 121 (D) 32

CarhH&esLliulL ereser (wemm 5, 13, 29, — 125, 253 :
4) 83 B) 69
(©) 61 D) 65

RMENMLILIENLITETENSHS &650TLMIWLIGYLD :
A) 3:14 (B) 5:18
C) 8:24 D) 6:30

@m GOl Gnluiiysy “FANTA” eaerug "LGTZG" eetm stpsliLlbHleTengl. Sibhss
@Mty “CRICKET” etéusummy erps Ll (hsTerg,?

(A) NSKLIEA (B) FKCLIEC

(C) IXOIQKZ (D) OWMAMDK

ukigg, Frémex MM sveuLiesTTalle a6, HEH CHrHHlev SUT adevmaileT Gy CLESH), Seul
Nrsmey WwMMID  eveuliermallest STWTy. LNFsTag SH(HOESTONSTHUTTHWD, FTCMad 6T
wenesTeNullest FCHTHTTTEHLD @) (HHSTEV, LIS SLIT6L6DT TeueUmm| GG TLTL|enLWIaU?

(A) wmomr B) &Csmayy
©€) sHews (D)  waer

400 B Bemresem e Tulley, ety Hlemauilev @ mmbg 60 &lb/weswll CousmgHlev @emesoruiment
ursnguiley Lwiessfla @ 300 B Herepser Fullenevs sL&ES 15 eNerTmigsssiT oy &L. HevorL Tulledlesr
Geuss b &b/ wessflullev eredTenT?

(A) 108 (B) 102
(C) 98 (D) 96

soeoreurfl 1, 2006 oy6srm) (ehmulmmis&lpenio. soeoreurfl 1, 2010 oy6sTm) euMy&lett HlLpemLd 6TeoT6nT?

@) @mIp (B)  Hriseseir
(C) &gerfl D) QeusTeN&EHpemio

Fflwurs 2 &5 flssluUbHb eurfsHenganls CaIbHels[H&se0 :
(A) Compassionate (B) Compasionate
(C) Compationate (D) Compassionete
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75. Neither Riya nor Gina any knowledge of the incident.
(Choose the correct verb)
(A) has (B) have
(C) were (D) are

76. What is the collective noun used for lions?

(A) fleet (B) swarm
(C) pride (D) mob
77. Please ask her to report today, (Select a suitable question tag)
(A) canyou? B) will you?
(C) should you? (D) don’t you?

78. They postponed the meeting due to an unexpected delay in processing the documents.

(Pick a phrasal verb that can substitute the underlined word.)
(A) move out (B) took off

(C) take out (D) put off

79. Which among the following is a correct sentence?
(A) No other boy in the class is as smart as Rahul
(B) No other boys in the class is as smart as Rahul
(C) No other boy in class are as smart as Rahul

(D) No other boy in the class are smarter than Rahul

80. I am searching for ways to break the ice with my new class. (What is the meaning of the

idiom, “break the ice”?)
(A) To do something that makes people feel more reliable
(B) To do something that makes people feel more hard-working
(C) To do something that makes people feel more relaxed

(D) To do something that makes people feel more focused
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81. The king ruled a vast empire. Pick the correct preposition.
(A) from (B) over
(C) about (D) by

82. Which of the following is the correct spelling?

(A) occasion (B) ocasion
(C) occassion (D) occation
83. watch that you want is limited edition. (Use the correct
articles.)
A Aa (B) The, the
(C) A, the (D) The,a

84. What is the antonym of benevolent?
(A) sympathetic (B) cruel
(C) elegant (D) simple

85. “Shut the door!” (What is the passive voice of this sentence?)
(A) Let the door be shut
(B) Someone has to shut the door
(C) You have to shut the door
(D) Please shut the door

86. What is the one word for a person who always looks at things in a positive manner?
(A) Narcissist (B) Pessimist
(C) Optimist (D) Meliorist

87. What modal auxiliary is used to suggest necessity or obligation?
(A) Shall (B) Can
(C) Might (D) Must
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88.

89.

90.

91.

92.

93.

94.

31517 euflenguiley HenESLILIL(H6TETenss SetoTL M8,
(A url®), ulE), ewuwest, GlueTeuLD (B)  emuwesr, Quemsuid, Ul (h), UTL(H
(C)  ulL@E, url@), ewuwesr, GlueTeuld D)  ulE, url®), QueTsuLb, emLILIEST

FeoliuasrrsHens @ummlwieuy wimy? sreor & flwf wresoreussilLb Gl LG eTeuelens afeoT?
A) swelerm B)  omwr eNestm
©) omeferm D) Qamersv eleoT

(6bTevg &6t LmeseTLl GLIflg) - @& STLT e9l6Te&6Ug)
(A) 5GBS CHISH CFunUpD 2 56
(B) uwener srHFUMTHG GlFILD 2 FHe
(C)  uwemert THFUMTTLOO CFUIL 2 Fa
D) eHyurpmoey QFLwiL@HbD 2 gal

& QarhHssLUL(HeTer QFmHaeflsy GHDMIWeSTLD SievV6vTs CFTeLemen C&THEIS [H & s:
@A) &85 (B) 2 ctoremm
(C) e&myy D) e

2 1Deg C\&Ten&UN6L ‘2 1D’ 6TeiTEn)ID @)L FCIFT6L 6TMhI(E LM MBS 61(HLD?
A)  ws656L bu(HD B) @emLuNev eu(mDd
©) @miFluiev eugpid D)  @evrLufguid GmiHuTeuitd eupLDd

660l Geumiumh SIMHSI FRWmeTenS LI ClUIT(HE SIS
(A)  2mey - Qembsd
2.78| - VIGH

2 - 6usdlemo
2. M| - 6euigeuld
B) <2me| - QFmHHD
2 76y - suedlemio
2 - WEH
2. M| - 6ulgeuld
(C) =2may-eusdenw
2 7o - ClEmhsLd
2 (I - 6ULg6ULD
2 mi- BG5S
D) 2me-QeThHsbd
2 76 - 6U60l6MILD
2 (Ih - 6UIg6MLD

2 mi - BlGH
2 616) 6T6dTLIZS 60T CILIM(TH6IT & (HS
(A)  eeTayzen (B) Geusy
(C) 2evaym6v D) asmev
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95. @nevor(h) GlEmm&T eTLCILIT(PSID @enestThgl BlesTCm GILIM(HET &(Heug —————————— G
A) @rlenLsHlemal B) HsG&ssTLY
(O) eaNemerrsCsTEmS D) ussTyHOBTENS

96. Long Vowels erettLgl6tT SLOOMTEHSD &(H&
Q) 2.9 erssl (B)  BevorL eTwsa!
(C) G a5 D) OBy rwss)

97. 9 erwsIs: CIBHMSTEVLD
A) QB + &meubd (B) Qmp +a&meud
(©) Om@Hemw + &mevd D) BEB + smeuid

98. CGlgweaflenest eUTHSWLSHMNSHE &65oTLMS:
(A)  urpHwmy 2608 WwEseTTeL LUMFTLLULGE DT
(B) eumieno eTesTm b Gl6UELEY|LD
(C) 2 6tresTTed @UILISHSHSHD UTTRISLILILLGT?

(D) H(weusTEmEuT &(HSEGMENET @UID 6T

99. Bare words buy no barley @smamesr LG WTLHenWs SevTLM5
A) Qeumriens b CuT@iwm
(B) wmflweveug smiflwbsvensy
(C)  Qurissmy LISl sieTeuTy
D)  usw smflwb A M CUTE D

100. eresorammILIQLIWIT @EFCFTEV6V|5(E) @)EOETITWITEST 2y, MhISlEVTESHLD &(HS
(A) Numbers (B) Numerals
(C) Numbers Name (D) Predicate
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Space for Rough Work
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Space for Rough Work
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10.

11.

12.

13.

14.
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D G.210B)Gala|CleAl 1 oyo® 74 ceowigs co1cym@®  sogleflege ®al¥lege @owi
@)l ofldlenymy. e ¢.2I0B|mBMROS @AM, MBLRM ag)mrilal Mool Mot @IS MogGlad
DOWINERIIAREE 62106 JETBREN) @YWOBADOLEYM@.

32193 o RWHETIO @AUITOM Galgflmy O@IFIMMMI BMIo afFIMI®D A6NE GaleR)d:W G IRGTISIeNE. snay
@m0 H6N33afISlenMEIMEs H1Gla R HalewIUsenHINM@IET.

OEMAETBR COINYSIEMIM EBEElSNMEIM @M dEmELHSMIONM@ A0jROEE] WIAEGUEBG
WAL B0 QIO L6

nd@emeo 9heqes end calosjerimie (A), (B), (C), (D) agm moel somesmsd earideso.
NAWODOo  OBOOETMSOT  6.04)0.CDD. HEMOABLOSLMIM  MITWeR]gs 62103y MMIdIM emeEWes
wdlwymmeo myaflaflenym ialg (entenfld) mo@o Mlale®o &0Yea]0 nIW@ Galo@f Galm Paleoulla]
0|00,

80600 WAWEMEETIMIe 80y  modes AEleN®-®e 860 OMEPEDOETMIe  modss 1/3
MaUDOAH@o 621QJjo. HEHOO COEIOQSIEMIED €.2106I6TBDBE MODLHE MaUMOO)L-QfQ).
alAleuomao  HFlQMEIN  ayemd,  pEmesensenm  omafledleageo ap@aflencemews 6oy
9eaPNI®AWI0 al@lBH0a00t QNS @ JOBTHEAIOMHIM aldSle).

a1deqeamBR  &AdMaID] aloellesnmBmosm. alGleHIEl (BNEHHS MSEMHEWI @RBIMISS ymo
MSEMHHEWI 6.21QPYIMM HBEBJUNIAMA 08 @PEWIMN 109X (ol jdalleniammoe.
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